Derivative Review Part 1

3.3,3.9,3.0,3.8,3.9



Find the derivative of the function
p. 181 #1
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Find the derivative of the function
p. 181 #3
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Find the derivative of the function
p. 181 #3
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Find the derivative of the function
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Find the derivative of the function
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Find the derivative-eofthefunetion
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Find the derivative of the function
p. 124 #13
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Find the derivative of the function
p. 124 #13
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Find the derivative of the function
p. 124 #17 Lx-H - bx =15
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Find the derivative of the function
p. 124 #29
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Find the derivative of the function
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a) Find all points where f has horizontal tangents

p. 126 Quick Quiz 4
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a) Find an equation of the tangent line at x = 1.
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b) Find an equation of the normal line at x = 1.
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Find d_y
p. 146 4 dx
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Find d_y
p. 146 6 dx
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p. 153 17 dx
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Find d_y
p. 153 21 dx

P A Sin2(3x—2) = [S»in(':lx-?)]
(jt ” D[S-;t\ (3%-?3) . CQS(3‘,2\ '8
Sl: ¢ sin(3x2) cos(3%-2)



Find d_y
p. 153 24 dx
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Find d_y
dx
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Find the derivative of y with respect to the given

variable
p. 156 Quick Quiz #1
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Find the derivative of y with respect to the given
variable d w2 d -
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Find the derivative of y with respect to the given

variable
Extra Practice
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Find the derivative of y with respect to the given
variable
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Find d_y
p. 178 #8 dx
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Find d_y
p. 178 #13 dx
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Find d_y
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Find the derivative of the function
p. 181 #8

tiv

y=x42x+1 = X@\W\
-\
%&_j- X ')_1+\31£"X+ ;Z)u-l()

= X Loy 2%+
AT



Find the derivative of the function

p. 181 #11
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Find the derivative of the function

p. 181 #17
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Find the derivative of the function

p. 181 #24
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Find the derivative of the function

p. 182 #30
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p. 183 #67d

Suppose that the functions f and g and their first
derivatives have the following values and x =0

Find the first derivative of the following
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(509 w8 § (18,9) m=-)
Let f be a differenti tion such that
f(6) = 3 —8and
fle)y=-2.

nction g is differentiable and
Dfor all x. What is the value

a) -1/2 ) 1/6 d) 1/3
e) The valueof g'(15) cannot be determined
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what is the equation of the tangent line to g(x)

atx = -37

My—2=§(x+3) B) y+z=§(x-3)
3 3
@y-2=z(x+3) D) y+3=z(x--2)

E) y-2=§-(x+3)
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Find the equation of the an@line to

the curve at the given point o=\ +"1 (x-2)
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Find the equation of th@an@line to

the curve at the given point 5___“_}‘_‘_ _% (x-0)
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p. 182 #51

Find the equation for the line tangent to the curve at
the given value of t
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p. 182 #51
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p. 535 #25

Find the points at which the tangent line to the curve

is horizontal and/or vertical
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1. Acurve Cis defined by the parametric

equations x =t2—4t +1 and y = t3. Find the
equation of the ILne tangent to the graph
of C at the point (1, 694)? x-{'l-‘lé xj
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1. Acurve Cis defined by the parametric
equations x =t2—4t+1 and y = t3. Find

the equation line tangent to the
graph of C at the point ? ;
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2. Let h be a differentiable function,
defined by f(x) =h(x*-4). Find f'(3) .
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